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Direction (Q. Nos. 1-5)
following passage and answer the

these questions should be based on the
passage only :

Passage 1

The global refugee crisis has reached
alarming proportions, with millions of
people fleeing their homes due to conflict,
persecution and instability. Data and
statistics underscore the magnitude of
this crisis, shedding light on the immense
challenges faced by both refugees and
host countries.

As of the most recent UNHCR report, there
are over 82 million forcibly displaced people
worldwide. This includes refugees, asylum
seekers and internally displaced persons.
The number of refugees alone has
surpassed 26 million, with nearly 80% of
them hosted by neighbouring countries in
regions facing their own challenges.

Syria remains one of the most: 31gn1ﬁcant
contributors to the refugee crisis. Since
the onset of its civil war in 2011, an
estimated 67 million Syrians have fled
their country. Afghanistan is another
major source, with over 2-7 million
refugees, driven by ongoing conflict and
1nsecur1ty‘ Venezuela’s political and
economic turmoils -have resulted in a
staggerlng 54 million people seekmg
refugees in nelghbourmg countrles

Developing nations shoulder & substantial
burden in. hosting refugees. Countries like
Turkey, Pakistan and Uganda are among
the top refugee-hosting nations. Turkey
alone hosts more than 3-6 million refugees,

strains on its resources and infrastructure.

The international communlty faces a
collective challenge in addressing this
crisis. Providing humanitarian aid,
ensuring access to education and
healthcare and facilitating resettlement
are vital components of a comprehensive
response. However, strained resources,
political complexities and the growing
trend of anti-immigrant sentiment in
some host countries present obstacles. to
find effective soiutlons

: Read the

questions that follow. Your answers to

primarily from Syria, placing significant.
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n conclusion, the current international
refugee crisis is a complex issue with far-
reaching implications. Data and statistics
highlight the staggering numbers of
displaced individuals and the significant
challenges faced by both refugees and
host countries. Addressing this crisis
requires international cooperation, policy
reforms and a commitment to upholding
human rights in the face of adversity.

1. How many forcibly displaced péople
_are there globally, according to the
UNHCR report?

(A) 26 million
(B} 50 million
(C) 82 million
(D) 100 million
2. Which country has hosted the
largest number of refugees from
Syria?
(A) Turkey
(B) Jordan
(C) Lebanon
(D) Iraq
3. What is a major driver of the
refugee crisis in Afghanistan?
(A) Economic opportunities
(B} Religious freedom
(C) Ongoing conflict and 1nsecunty
(D) Political stability

4. Among the listed countries, which
one hosts the most refugees?

{A) Germany
-(B) United States
(C)} Turkey

(D) Canada

5. What challenge is faced by host
countries in addressing the refugee

crisis?

{A) Ample resources and

_ infrastructure

(B) Low levels of international
cooperation

(C) Anti-immigrant sentiment and
strained resources

(D) Ignoring human rights concerns
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Direction (Q. Nos. 6-10) : Read the
following passage and answer the questions
that follow. Your answers to these questions
should be based on the passage only :

Passage 2

Genetic engineering, a revolutionary branch
of biotechnology, continues to evolve rapidly,
transforming the way we approach
medicine, agriculture and various scientific
endeavours. Recent developments in this
field highlight both the immense potential
and ethical considerations that come with
the power to manipulate DNA.

In the medical realm, gene editing
technologies like CRISPR-Cas9 have gained
prominence. These tools offer
unprecedented precision in modifying
genes, holding promise for treating genetic
disorders. In a groundbreaking clinical trial,
researchers successfully used gene editing
to treat sickle cell anaemia. The patient’s
own modified cells were reintroduced into

and an improved quality of life.

In agriculture, genetic engineering is driving
advancements in crop production and food
security. The development of Genetically
Modified (GM) crops has enabled plants to
resist pests, withstand harsh climates and
improve nutritional content. For instance,
GM rice has been biofortified to contain

potentially combating malnutrition in
regions where rice is a staple food.

However, these advancements also raise
ethical concerns. The potential for creating
“designer babies” through gene editing has
sparked debates about the boundaries of
genetic manipulation. The question of
whether it’s ethical to alter human DNA
to enhance physical or cognitive traits
|continues to challenge bioethicists,
policymakers and society at large.

Data indicates the exponential growth of
genetic engineering research. In the past
decade, the number of scientific publications
related to CRISPR technology has
multiplied significantly. In 2010, there
were approximately 150 CRISPR-related
publications; by 2020, that number had
soared to over 9,000. This surge
demonstrates the profound impact of genetic
engineering on the scientific commumty

their body, resulting in reduced symptoms

higher levels of essential vitamins,-
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‘ ‘As we navigate this brave new world of
genetic engineering, striking a balance
between innovation and ethical
considerations remains paramount. The
potential to cure genetic diseases,
enhance food security and make leaps in
scientific understanding is immense.
Howevey, careful consideration and
collaboration are necessary to ensure that
the benefits are realized while addressing
the ethical complexities that accompany
these technological breakthroughs.

6. Which gene editing technology has
gained prominence recently?

- {(A) PCR
(B} CRISPR-Cas9
(C) DNA sequencing
(D) Microarray analysis
7. In a clinical trial, gene editing was

successfully used to treat which
genetic disorder?

(A} Cystic fibrosis
(B) Huntirigton’s disease
(C) Sickle cell anaemia
(D) Diabetes ‘
8. What is one of the benefits of
Genetically Modified (GM) crops?

(A) Increased susceptibility to
pests

(B) Reduced nutritional content

(C) Improved crop yield and pest
resistance ‘

(D) Longer growth periods
9. What ethical concern is associated
with genetic engineering?
(A) Improving food security
(B) Enhancing cognitive traits
(C) Treating genetic disorders
(D) Preventing malnutrition

10. How has the number of CRISPR-
related scientific publications
changed over the past decade?

(A) It has remained constant

(B} It has decreased significantly
- (C) It has increased moderately
- {D) It has multiplied exponentially
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(A) PCR

(B) CRISPR-Cas$

(C) DNA sequencing
(D) Microarray analysis
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Direction (Q. Nos. 118&12) : In questlons
given below, a part of the sentence is

ined. Below are given
alternatives to the itahc:sed part which

correct alternative. In case no improvement
is needed, option (D) is the answer :

11. The workers are hell bent at getting

what is due to them.

(A) hell bent on getting
(B) hell bent for getting
(C) hell bent upon getting
(D) No improvement

12. When it was feared that the serfs
might go too far and gain their
freedom from serfdom, the

- Protestant leaders joined the

princes at crushing them.

(A) into crushing
(B} in crushing

(C) without crushing
(D) No improvement

13. In the following question, choose the
word which is the exact OPPOSITE
of the given word :

ENORMOUS
(A) Soft
(B) Average
(C) Tiny
(D) Weak

14. Some proverbs/idioms are given
below ' together with their
meanings. Choose the correct
meaning of proverb/idiom :

To keep one’s temper
(A) To become angry
{B) To be in good mood
(C) To preserve one’s energy
(D) None of the above

15. Find the correctly spelt word.
{A) Efficient
{B) Treatmeant
(C) Beteiment
(D) Employd

may improve the sentence. Choose -the
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what is due to them.
(A} hell bent on getting
(B} hell bent for getting
(C) hell bent upon getting
(D) No improvement

12. When it was feared that the serfs
might go too far and gain their
freedom from serfdom, the
Protestant leaders joined the

princes at cryshing them.

(A) into crushing
(B} in crushing
{C) without crushing
(D) No improvement
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6RIQfFIY (ENORMOUS)
(A) 9, (Soft)
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(D) QAR (Weak)
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To keep one’s temper
{A) To become angry ’
(B) To be in good mood
(C} To preserve one’s energy
(D) None of the above

15. OQ QfIe g9l aag QI8 |
{A) Efficient
{(B) Treatmeant
(C) Beterment
(D} Employd
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@Pirection (Q. Nos. 16-18) : Read the

paragraph and answer the following :

I felt the wall of the tunnel shiver. The

earphones. Almost simultaneously, Jack
yelled down to me that there was a
- lwarning light on. Fleeting but spectacular
sights snapped into and out of view, the
snow, the shower of debris, the moon,
looming close and big, the dazzling
sunshine for once unfiltered by layers of
air. The last twelve hours before re-entry
were particular bone-chilling. During this
period, I had to go up into command
module. Even after the fiery re-entry
splashing down in 81° water in South
Pacific, we could still see our frosty
breath inside the command module.

twice in the given passage indicates
perhaps that it deals with

. (A} an alarming journey
(B) a commanding situation
(C) a journey into outer space
(D) a frightful battle

17. Which one of the following reasons
would one consider as more as
possible for the warning lights to
be on?

(A) There was a shower of debris
(B) Jack was yelling '
(C) A catastrophe was imminent

(D) The moon was loomiﬁg close
and big

18. The statement that the daZzling
sunshine was “for once unfiltered
by layers of air” means

(A) that the sun was very hot

(C) that the air was unpolluted
(D) None of the above

master alarm squealed through my

| sunshine for once unfiltered by layers of

| breath inside the command module.

16. The word ‘Command Module’ used

(B} that there was no strong wind
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1 felt the wall of the tunnel shiver. The
master alarm squealed through my
earphones. Almost simultaneously, Jack
yelled down to me that there was a
warning light on. Fleeting but spectacular
sights snapped into and out of view, the

snow, the shower of debris, the moon,
looming close and big, the dazzling

air. The last twelve hours before re-entry
were particular bone-chilling. During this
period, I had to go up inte command
module. Even after the fiery re-entry
splashing down in 81° water in South
Pacific, we could still see our frosty

16. F2ARIYS! ALERTEQ VNS AQIR’
(Command Module) 98 ¢REQ QI
QAUAIRE, €RRUFY 98 oS FEQ —
(A} an alarming journey

B (B)- a cbmmanding situation
(C) a journey'into'ou'ter space
(D) a frightful battle
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) (A) "_ITh_cfé' was a shower of debris
- (B} Jack was yelling
(C} A catastrophe was imminent
(D) Thé‘moon was looming close
and big

18. The statement that the dazzling
sunshine was “for once unfiltered
by layers of air” means

(A) that the sun was very hot

(B) that there was no strong wind
(C) that the air was unpolluted
(D} None of the ahove
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19.

20.

21.

In the question given below, out of
the four alternatives, choose the
one which can be substituted for
the given word/sentence :

Extreme old age when a man
behaves-like a fool.

* (A) Imbecility

(B) Senility

(C} Dotage

(D) Superannuation

In the following question, choose the

word which best expresses the
meaning of the given word :

EMBEZZLE
{A} Misappropriate
(B) Balance
(C} Remunerate

(D) Clear

Direction : Choose the correct
option considering the statements
followed by the conclusions :

Statements :
(aJ Some panthers are cats.
{b) All cats are mammals.

fc) Some mammals not

panthers.

are

Conclusions :

(i) Some mammals are panthers.
fii} All panthers are mammals.
fiii)
(iv)
(A)
(B)
(C)
(D)

All cats are panthers.

All mammals are panthers.
None follows

Only (i) follows

Only {i} and (ii} follow

Only (i) and (iii) follow

19.

20.

21.

30 998 9495Ra SI6aF Sag AugP
€01ITg @18, QIFIY TAIYINYS! 98 /IR
JoeeRea MO0 RULIR G

Extreme old age when a man
behaves like a fool.

(A) Imbecility

(B) Senility

(C} Dotage

(D) Superannuation

07 999699 299 99 QI8 QIR 96R
QuIQIRge 99q 2dg AETINE A6
Mg *5aa|

EMBEZZLE
(A) Misappropriate
(B} Balance

(C) Remunerate

(D) Clear

gedaql : deie qlal 2ged @al
QR0 F6egR @a W0 TRETR P08
@al

*S A7E :

fa) 6960Q TOIRIA Fena ACE)

(b} QARG TR A 2SR

(c) 6R6OR IMAIN FOINIQ QERI
dee :

i) 6@REER YAAA TOIRIT 2T

(i) AAG TRIRNA GRYQIBT 2AE
(i} ANGY IEMA TV SR

fiv) QAOY GMQIR FRRNQ AT

(A)
(B).
()
(D)

P60 6990 6%
cReR 76918 fi)
EQRYR FERNG (i) B (i)
6QYR Q671 (i) G fii)

/10-A




pz.

23.

24.

(D)

-Divayabh gave an application for a

new passport to the clerk on
Monday afternoon. Next day was a
holiday. So, the clerk cleared the
papers on the next working day on
resumption of duty. The senior clerk
checked it on the same day but
forwarded it to the head clerk on
the next day. The head clerk
decided to dispose the case on the
subsequent day. On which of the
following days was the case put up
to the head clerk by the senior
clerk?

(A) Wednesday

(B) Thursday

(C) Friday

(D) None of the above

Direction : Choose the correct
option considering the statements
followed by the conclusions.

Statements :

fa) Some desks are apartments.
(b) All apartments are cars.

{c) Some cars are trucks.
Conclusions : _

(i) Some desks are trucks.

fii)
iii)
(iv)
(A)
(B)
(C)

Some desks are cars.
Some cars are apartments.
No truck is a desk.

None follows ‘

Only (i} and (iii) follow

Either only fi) or (i), (iii) and (iv)
follow

follow

Complete the following series :
E-5, G-7, I-9, K-11,?
(A) L-13, N-14

(B) M-13, O-15

(C) L-12, M-14

(D) K-12, M-14

Either only (i} or f{iv), (i) and (i)

22.

23.

24.

Divayabh gave an application for a
new passport to the clerk onj

‘Monday afternoon. Next day was a

holiday. So, the clerk cleared the
papers on the next working day on
resumption of duty. The senior clerk
checked it on the same day but
forwarded it to the head clerk on
the next day. The head clerk
decided to dispose the case on the
subsequent day. On which of the
following days was the case put up
to the head clerk by the senior
clerk?

(A) Wednesday

(B) Thursday

(C) Friday

(D) None of the above

Feaael : G812 QI 2ALLRE @9l
GQRbQ §eeem @ abe Gegtqg 99e
el
29 Q7L ¢
(o) 6Q6ER 60] 2IAITEAY 26T
(b) QARG AAIENE R, 2T
(c) 660N Y TR} TS
aee :
(i) 6REOR 69 TR UCT
(i) 6QEOR 60Y A}, AT
(i) 6REER G AQITEAS AT
fiv) 6HOT o] 662 §6<!
(A) BEQIQ 67LG Q6%
(B) 6@9% REQIQ (i) 4_° (i}
(C) 6QQR B6QIQ (i) S (i), (ifi) 99° (iv)
(D) 6QQR RS () Q! (iv), ()99 (i)

qIQ Al @9 :

E-5, G-7, 19, K-11,?
(A) L-13, N-14

(B) M-13, O-15

(C) L-12, M-14

(D) K-12, M-14

/10-A
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25.

26.

27.

28.

- In a row of children, Bali is seventh

from the left and Moti is fourth from

‘the right. When Bali and Moti

exchange positions, Bali will be the
fifteenth from the left. What will be
Moti’s position from the right?

'(A) Eighth

(B)- Fourth

{C) Eleventh

(D) Twelfth

A woman preserits a man as the son
of the brother of lier mother. How
is the man related to the woman?
(A) Nephew |
(B) Son

(C) Cousin

(D) Uncle

Facing a man in the ey?e_, Nero said,
“Your son is my son’s uncle.” How
is' the man related to Nero?.

(A) Brother

(B) Father.

(C) Uncle

(D) Grandfather

If “1” denotes “added to”, “@”.
by”, 4%

denotes  “divided ",
denotes “multiplied by” and “A”
denotes “subtracted from?”, then
131102@6 %2241 =7 -

(A) 6

(B) 9

(C) 14

(D) 12

25, dRINIeEa 6QITY dIB6a QIR Qe

26.

27,

28.

 (B) Qi

a8« faie, ‘@ 294, % gae

(D) 12

age, 6916 QIR 9981 6I606I6R
QIR 8 6915 6ANIFTR PIF 0RER 963,
QR QUIY VBLY FINER AER| Q1216
6RITQ QIR 6R69 6297

(A) 2gq
(B) ogdl
(C} 4QIQF
(D) Q14

866 291 6AIGN MGF OIF AT
VAR YU 969 QOPITR QB Qg MG
2T PRI A2 Fad QaFe?

(A) Qe

(B) Q&

(C) |IS

(D} eng

@68 PG AIY ANRI6Q 6QY, 6R6Q

QLN “QAR G2 671 YRR QU AR
G PO 656l AR6 FAd Tade?

(A) QU

(C) QUG
(D) 6Q69<IQl

NQ° “A” 6a°QI€IQ 950 @69, 6969
131102@6% 2441 =7

(A) 6

(B) 9

(C) 14

/10-A
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29.

.

30.

31.

32.

- 40 articles,

Find the number of triangles in the
given figure :

(A) 8
(B) 10
(C) 12
(D) 14

Find the number of triangles in the
given figure :

(A) 22
(B) 24
(C) 26
(D) 28

If the marked price of 30 articles
is equal to the selling price of
then find the %
discount.

(A) 25%

(B} 33:33%

(C) 75%

{D) 20%

A student scores 36% marks and
he fails by 32 marks. But if he
scores 48% marks then he will get
64 marks more than the passing
marks. Find the pass percentage.

29. 99@ 5g6Q QG}QIGIQ £89qYeFaa QS

30.

31.

32.

- 6HIT QIR !Q

(A) 8
(B) 10
(C) 12

(D) 14

gea 5860 SeRIFIR 6ALYERA Q3
6HIR QITIQ @]

A) 22
(B) 24 -

(C) 26
(D) 28

QG 30 § Qe YO0 FRY 40 § Q@
3Q0 ARy 990 QANIR, 6669 BRI %
EREQ 64T TR QA?

(A) 25%

(B) 33:33%

(C) 75%

(D) 20%

@66 38181 36% FAQ QY 32 FAAER
carm §91 @q, A0 6Q 48% VAR A6H,
6069 6Q Q¥ GAQ 0 64 GAQ AR
ARG Q4 2 6HF QLI Xl

(A) 40% '

/10-A

(A) 40% .

(B) 50% (B) 50%
(C) 35% (C) 35%
(D) 45% (D) 45%
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33. The monthly incomes of X and Y 33. X8 Y Q AIde 219Q 29010 4: 3 q@ob

are in the ratio of 4:3 and their 6QAIeE e AR 2AGAIQ 3:2 |
monthly expenses are in the ratio

of 3 : 2. However, each saves T 6,000 6069, 9% Qe 114y T 6,000 & A8
per month. What is their total RAB| 6AAINT 671S ITR ZIY Q66 7
monthly income?
(A) 28,000
(A) ¥28,000
{B) ¥42,000
{B) ¥42,000
_ (C) 56,000
(C) ¥56,000
_ (D) ¥84,000
(D) ¥ 84,000 :

34. P, QOIg 5aq4l 41g Q19 969, ¢ Pl
34. P works thrice as fast as Q, QOIg Fhqdl d1g w63, 99g,

whereas P and Q together can work G Q9eg ROIQ 9@%6” dly @i
four times as fast as R. If P, Q and @AAIRES| G@ P, 0 B R QG 60T
R work together on a job, then in QI 968, 6069 620I6n Beq 219q
what ratio should they share the ‘ w ~
earnings? 6@@ 2QUIeeq Qg6
(A) 3:1:1 , (A) 3:1:1
(B) 3:2:4 - (B) 3:2:4
(C) 4:3:4 ' (C) 4:3:4

1:4 (D) 3:1:4

(D) 3:

35. 8 men can do a piece of work in 12 35. 8 9¢l QU 69IFY QIdig 12 Faeq
days while 20 women can do it in RQAS! 696% 20 94 ATR <q21g 10

10 days. In how many days 12 men = = =~
and 15 women together can d06Q 93] 6R6C G’S‘GQ 12 961 QQ9a @

complete the same work? 15 96 %@ 698 Idig AAIg @867
(A) 4 (A) 4
(B) 5 (B) 5
(C) 6 | (C) 6

(D) 7 (D) 7

/10-A ' 12



Direction (Q. Nos. 36-40) : In each
question below is given a statement
followed by three courses of action
numbered (i), (ii) and (iii). A course of
action is a step or administrative decision
to be taken for improvement, follow-up or
further action in regard to the problem,
policy, etc. On the basis of the
information given in the statement, you
have to assume everything in the
statement to be true, then decide which
of the suggested courses of action logically
follow(s) for pursuing : '

36. Statement : A heavy unseasonal
downpour during last two days has
paralysed the normal life in the
‘State in which five persons were
killed but this has provided a huge
relief to the problem of acute water
crisis in the State.

Courses of action :

(i) The State Government should
set up a committee to review
the alarming situation.

The State Government should
immediately remove all the
restrictions, on use of potable
water in all the major cities in
the State.

()

(iti) The State Government should
affected areas in the State.
(A) None

(B) Only ()

(C) Only (i) and (iii)

(D) Only (i)

send relief supplies to all the

BedaIR! (949 Q°HY 36-40) : J6RNR g4 G6R
61T Q@ QARG QIR (i), (i) 9S° (i) G6d
090 96918 QIdy AN QYA AGYS | EQIT
QY A 6QITY TGETT @A 6RRIQ 2Q
gaIa@e aga, a6qd, agaqd anl aayl,
218 aaR19 99ed! QIdY QoI Q@69
SAINAS ORI ARIAEA AITEF A6 &
QeIg RAUIG ABH 691 Y18 FARIG 69R| 6669,
9g91Re QIFRINIGER FRIG 69LT MIAA°CS
QIR AFAQG €QIG 26e T Fag!

36. 9@ : 990 ¢8R @° UQ WIVE AFANG
Q4 QIGYER RIS FIIRG AR FA-
CORE, CUULER QIERE CRIAFS FQY
62108 | 3, 92! AIRIEA TN aR AFE
§Re QAQY QI S IAAG! YRR
*G8|

Y A ;

agse 08§89 QA AR AU
AR 9@ KT 908 *AQ K|

)

QYA AAg Y L QEFIER
AINNER QUITIQ QTR UM
Q90 009l Ag gGeea
QA0IRER]N QTS|

()

QUSIER AFIG VRS ARRYLY AUSY
AARIS FRT, ANG! 6QIGIE KA
QRS

(iii)
(A) 6EAG ged

(B) 6899 (i)
(C) 6QQ® (i) B (iii)

CReR (i)

(D)

/10-A
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37.

38.

Statement : A large private bank
has decided to retrench one-third
of its employees in view of the huge
losses incurred by it during the past
three quarters.

Courses of action :

i) The Government should issue
a notification to general public
to immediately stop all
transactions with the bank.‘
The Government should direct
‘the bank to refrain from
retrenching its employees.
The Government should ask
the central bank of the country
to initiate an enquiry into the
bank’s activities and submit its
report. '

(A) None

(B) Only (i)

(C} Only (i)

(D) Only (iii)

(@)

fiii)

Statement : Many political activists
have decided to
demonstrations and block traffic
movement in the city during peak
hours to protest against the steep
rise in the prices of essential
commodities.

Courses of action ;:
() The Government should

immediately ban all forms of
agitations in the country.

The police authority of the city

fii} T
~ should deploy additional forces

all over the city to help traffic

movement in the city.

The State administration
‘'should carry out preventive
arrests of the known criminals
staying in the city.

(A) Only fi)

(i)

(B) Only (&)

(C) Only i)
(D) Only (i) and (i)

stage -

37.

38.

(i)

28 : 5616 86010 g9 IR Ay ﬂQIGQh
AR BF 62 99 G20 YEQAR NIS
4DIR 9@ QI SFGIRI] FITIQ QIR
@89l A A48 67aG! '
Iy &1
) % NI AR FINQIQ 9% 249 Fie
dARRIR CORIR FEARINES IR IR
B geIe 2491 Q00|
IS 12IQ FRIRNG QITIG QLR
~ Q0QIQ 996 0491 QIR AR Reud
€991 Q50|
MITQ QI agaRIe *F Feald
QAP FRQ! Fha 609 691N
TG ORI} FE Q6!

6@lade qew
6R9R (i)
699R (i)
6% (iil)

(ifi)

(A)
(B)
(C)
(D)

QS : AGUIEIR IR QA AGYNS
ARIQE Famea goeal *ae ael
AGIR QAR AUER ALAER FETIW
YR ¥ QIGI00] 2961 FEQ Bde
AP ANCHER AR HgR caaad|
QY 21 :

fi 69466Q 4Ag AR T6RING IR
@98 8% Q4 @bel

d206Q QIRINeq dRINe 98!
Plie ang Qease 260g caIRd
QERQ CAIRY FRAS BeiGe Qae!
Qoe|

d206a Q28S S€IgEl ARG,
goRIa QIegl 49U aIsY geaIae
docr @bQl a8e|

(A) 6RQQ (i)

(B) 6Q9% (i)

@)

(iii)

(C) 699R (i)

(D) 6899 i) G (i)

/10-A
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39,

40.

‘Statement :

‘Statement : The school dropout rate

in many districts in the State has

‘increased sharply during the last few
-, years as the parents of these children

make them work in the fields owned
by others to earn enough for them to
get at least one meal a:day. -
Courses of action :

(i} The Government should put up a
mechanism to provide food grains
to the poor people in these districts
through public distribution system
to encourage the parents to send
their wards to school.

(i) The Government should close
~ down some of these schools in the
district and deploy the teachers
of these schools to nearby schools
and also ask remaining students

“to join these schools.

fiii) The Government should issue
arrest warrants for all the
parents who force their
children to work in fields
instead of attending classes.

(A) Only (1)

(B) Only (i)

(C) Only (i)

(D) Only (i) and (i)

One aspirant was
killed due to stampede while
participating in a recruitment drive
of police constables. .

Courses of action @

(i) The officials in-charge of the

recruitment process should

immediately be suspended.
(i) A team of officials should be
- asked to find out the
~ circumstances whjch led to the
death of the aspirant and submit
its report within a week.

(i) The Government should ask

the home department to stagger
the number of aspirants over
more number of days to avoid
such incidents in future.

(A) Only (i}
(B) Only (i)
(C) Only (i)
(D) Only (i) and (iii)

39, QG : 000 A8 9U6Q B19 N6 SR

2IBQ 2 AR YRS FRIEA Q&

JIQ81 @106 1€ daie doInielales 88

QFER Gaq 69ITN 69R! AN 6RICIE

Qa9 QIR AU CAIRTIR Flia aMQ

@fiex 62AIeg FITY FARAIG|

QI 2l1Qu

i) TEAGINER 6P TR MNP -
0IRS! 7516 QUILe G061 QIR QARIGE
QG0 NGYl FIRINEE 1@ FRIIERsa
o ERIRS S IQY AN 7FIR
QORI Mol FoR! AT

(i) -A9RIQ IR 9@ 9F 6o

FNIPAR AR PR QOB UL PR
JeRa JAeqg FaRcy IMINAER
360180 98Q Q80 QAEAIRYS!
danies 98 F1Lagese|
6QIG6QRNY AL ATe|
(i) 65E16Q 6QITELI TAIER 6TFER
QI @Qael dRiqes aag| -
delnicle 9Qa6a JQT aagial
AeRQ 16 *0Q @O

(A) 6Q9% (i)

(B) 6QQ% (i)
(C) 6QQw (ii)
(D) 6@Q@ (i} G (ii)

. 28 : 6a1Ag 9689 Q3 AVIIFER

28528 @OQI AALER F64 AGIATR
ARISRTIER QY ATER|
RUAY UiQ

) Pealen gRal @I5G6Q 89! ANQS

@fieal 0eRIe ARAG 6291 @Fel

(i) 699 9RFEER BININIER g Sam!

Qg YT QTR @Q 6ANTNY AQIR
FRIEE BETIC AU GBI GAR 2GS
RRINSD 6QlITNY PG L9 |/e3!

(i) 969Y66R 93 @F a6€Ig 95

Q@Ql i 2RI} QINFRA]
QIS QI 2AGAICR ANG G
@ Y Q8% @9l

(A) 6R9% (i)

(B) 6% (ii)

(C) 699K (iii)

(D) 6@9% (i) 8 fii)

/10-A
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Direction (Q. Nos. 41-45) : Study the
following information carefully and
answer the questions given below :
Following are the conditions for selecting
Senior Manager General Banking in a
bank :

The candidate must

il have secured at least 60 percent
marks in std. XII

(i) have secured at least 55 pei'cent
marks in Graduation in any
discipline

(i) have secured at least 60 percent
marks in Postgraduate degree/
diploma in Management/
Economics/Statistics

fiv) be at least 25 years and not more
than 35 years as on 01-03-2010

(v) have post qualification work
‘experience of at least 2 years as
General Banking Officer in a bank

{vi} have secured at least 40 percent
marks in the personal interview.

In case of a candidate who satisfies
all the above conditions except

fa) at (i) above but has secured at
least 60 percent marks in CA or

to the VP-Recruitment,

{b) at (vi) above but has secured at
least 65 percent marks in the
written examination and at
least 35 percent marks in the
personal. interview, the case is
to be referred to the President-
Recruitment.

ICWA, the case is to be referred

ORI (9 LY 41-45)
Je91g O IS° BY6R PAAIRAS! g9 28a
ool

SOITN QUITER QY TRIRR-ARINE IS
ARBIRRI eae Bda feqlg A6 QF8
gigh Gde
f) Q08 |IBIT6Q ATRAER 60% 9AQ
Qgel6el
(i) 67 6164 SRIAER IPRER ABGAER
55% @A Qgasal
(i) Q8eIRel / 21 / AfHIReS
qIe6QIRQ G9! /P6qInIEa AT
60% @A AY6S

fiv) 01-03-2010 §&1 2GRER 25 @F 9e°
35 QdQ 2N 621 7 6|

(v) 691ITY UIFEQ AMIQE M ATOIRS!
2R QUES ATRAER 2 eda dBIGe
Q19461 Qaeel QY 2ERGI 99|

(V) PAS AVICINAER ACIFER 40% SAQ
AN R

GedI9 QUO1e QAR ATY ATYRE
YS! 964 9IEIT 68968

fa) 209 LG QR (i) 69 CA @ ICWA
6% 2T QEEQ 60% AYAER ARG
699609 AQIesnem Sa9q 1@
QG081 o0 QAT |

(b) @UQ Qe Q8 (W) 6@ fge
JAVIER LGRAERQ 65% @ NFEG
AVRINIAER ATRER 35% AR
QYR ASAIg 6996es Tguosnas
Geeq 980 eaidal

/10-A
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gn each question below are given details

of one candidate. You have fo take one of
the following courses of action based on
the information provided and the
conditions and sub-conditions given
above and mark the number of that
course of action as your answer. You are
not to assume anything other than
the information provided in each
question. All these are given to you as on
01-03-2010:

41, Kesav Vora was born on
8th November, 1978. He has
secured 65 percent marks in std.
XI1 and 60 percent marks in
Graduation. He has secured
58 percent marks in M.A. Economics
and 60 percent in ICWA. He has
been working in a bank as a
Generalist Officer for the past two
years after completing his
education. He has also secured
50 percent marks in the written
examination and 45 percent marks
in the personal interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

26 9496Q 66BN gleiie AR6EY Ga QUG
FULIRGE QU6 GoR!, I8 8 VAANFLY
G K6 21065 761G 66T Ky AIQUg,
6RQIQ 629 We° 6QF RILY AR I,
ZINIT QAQ VR TFC FAG| YU gFe
QAARES ORI NG AUAS AR 66T
Q8Ng GoIRg 676e RIE! ANY Sy AAEg
01-03-2010 & GRIQIRTI

41, €99Q SRR 1978 NTQ F6RAR 8 6Q
@ 62iaficnl 6 Qa9 FIBIFAER 65%
AR 9S° YIOR YAER 60% AR AR
69 G9.4. QAERNIERIAFEQ 58% 9e°
ICWA 68 60% @78 Qy88| €4 Gea
F9I66 6AIGIGI AR TR 96 §R 9
G 69T TR ERERAIRNG ATAR
QUREQ QY o8 2Yet! 62 N AYE

. JQIEa 50% RAQ 99 QYg9e
AINICINAER 45% AN AYEB|

agd 6ral QIR geIe SAUAIRYS
cal 9% aduig 6%

(A}

(B) 9G qGa% @eq 6ddéesw

QgITENeE Be0q 4B AaQIg 629

A% QoeT 6gdees QQICENSw
Aa0q 960 SUQIg 629

(C)

(D) Q& gieil e0e g28

/10-A
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42.

43.

Arindam Ghosh has been working
in a bank as a Generalist Officer
for the past four years after
completing his Postgraduate
Diploma in Management with
60 percent marks. He has secured
50 percent marks in the written
examination and 40 percent marks
in the personal interview. He has
also secured 70 percent marks in
std. XII.-He was born on 25th
February, 1975.

(A} The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The candidate is to be selected

(D) The candidate is not to be
selected

Sohan Majhi has secured
65 percent marks in B. Sc. and
70 percent -marks in M. Sc.
Statistics. He has been working in
a bank as Generalist Officer for the
past three years after completing
his Postgraduation. He has secured
55 percent marks in the written

examination and 50 percént marks -

in the personal interview. He was
born on 8th of July, 1982,

(A) The data provided is inadequate

to take decision

(B) The case is to be referred to the

. VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

{D) The candidate is to be selected

42. QR AT FHIERREAFER 60% TR

43.

(€)

QY QISERNRR B 699 Qd Q9@

QIRed §8 69BN ITER CRRIARG
- ¥9QQ @169 Y @& 219851 62 AYe

JQIFIER 50% FAQ 9R° T Ae
QVICRAER 40% FRQ QYERI 64 A

Q98 YIBIEQ 70% RAR QYEEI 69

1975 6IQQIQ1 2569 @G 6QIREEmI

Q9@ 699 AR gele eaIdIRae
ey 9@ adyig Q6w

(A)

(B) ¢ 2I9Q 6gdces AgIoenes

R0 ATl 9Fe *ARIg 699
Q% Qigl eae g2

(D) Q@ gigil 098 @ g8

6IRR AT G.492.9 62 65% 98° \¢l.{
4Q.3 60 70% P99 QUSal 6a Gee
QIPERIRR 61T RAAR T6Q 9e Taad
UG 6AITN Qe cReraRg aFaa
@196Q @I1dY *GaIged| 6d AYe
ANDVIER 55% Y9° QIGPGE AT ISRNIAER
50% @AQ QYRS 6Q 1982 GRIN 869
®g 62IRe6m

(A} T8 6091 AR GOIR UAIRAS
ealy 9@ adyig gee

(B) @& @edai§ @aq ¢gdces
| AQIeENeS Racq 9P6 RRIg 629

(C) 99 aeqIis cgdees Fgicengs
0R0g 950 RA9Ig 626

/10-A
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44,

45.

Neha Salve has been working in a
bank as a Generalist Officer for the
past four years after completing her
Postgraduate degree in Economics
with 60 percent marks. She has
secured 60 percent marks in both
Graduation and std. XII. She
was born on 24th August, 1979. She

has secured 70 percent marks in

the written examination and
38 percent marks in the personal
interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

Neeta Jaiswal was born on
2nd of June, 1980. She has been
working in a bank as a Generalist
Officer for the past three years
after completing her Postgraduation
degree in Economics with
60 percent marks. She has secured
68 percent marks in H. Sc. and
58 percent marks in B. Com. She
has also secured 50 percent marks
in both the written examination and
personal interview.

(A) The data provided is inadequate
to take decision

(B) The case is to be referred to the
VP-Recruitment

(C) The case is to be referred to the
President-Recruitment

(D) The candidate is to be selected

44,

45,

(A) G398 679 AR g AR

602l ANER FFQ 2891060 YIVERRA
60% QAR A8 &gl AR FG €AITY
IFER 6FERARNY 2TAQ KNER TG G|
of ¥ QI @& 21geT| 64 20 QIO
@ Q98 65416Q 60% FAQ QYLEI 1979
2Cg 246Q 6Q 89 QAT 62 AYe
QAIVIER 70% B PG AIVSRIAER|

38% @R.Q 488!

eay 9 aduig ges

(B) 9% @19q 6gdeee Ggycenaw
Pa0q 299 9Fe *AQIq 699

(C) 9@ 69d6ee AQITErqeT Feeq
QoaI YBe RARNG 699

(D) 9% gleh o0e a8

g6l SOQIM 1980 @F 264 @Q
62IRgem| 2da186a 60% AR QY
QIG6LIRG Bg1 1AM *7 96 §hed @
EQIENY QUITEE ERERAINY BTAQ NIER
QIdy 98 21g8| 6Q ¥6.4927 6Q 68%
8 §. @F] 62 58% FAQ QYRS! 64 A
Q00 AYe TNV 8 PG ARIGRAER
50% @9 QYE3

(A) PR 6RQl TN IR FAUARES
oay 9@ adyig g%

(B) 94 @IaQ 6gdcee QAgIeenaw
AReq Al 4P @AQIg 629

(C) 9¢ 6gdeed QQIceres Faoq
Q¢ gPe *QQIg 629

(D) 9% gleh e0e §28
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46.

47.

48.

. (A) Zoo

-(B) Extinct

Keeping in mind the relation
between numbers of the first pair,
find the possible number for the 2nd
pair from the options given below :
43:12::84:7?
(A) 46
(B) 32
(C) 12

(D) None of the above

Three words are given in the
following question which have
common feature. Four options are
given below the three words, one of
which has that same common
feature. Find the word :

Fruit, Flower, Stem.
(A) Scent
(B) Leaf
(C) Vegetation

(D) Forest

Three words are given in the
following question. Four options are
given below, one of which is
representative of the three words.
Find that option : '

Cheetah, Lion, Tiger

(C) Circus

(D) Carnivorous

46.

47.

R, g8, 918

48.

(C) 12

dee 6QIFa A°NIYPR ANER UNRL,
196 of Feg 9Ee AU Go1a calda
dalgy Qg IS AR F

1 43:12::84:7
(A) 46
(B) 32

(D) &g 6995 g6%

06gI9 gEQPw6a G6RIT a9 SaINIRE
iR AR FIY QER| B6aIF da
Q6n Cl6QIT TRy TUQAIRE QIRIAUQ
69I9Ra QAR 6399 Q&a| 6QF aR0g
681G QIgIa *al

(A) of
(B) a9
(C) @8

(D) S&'R

76919 99Ye6a F6RIT I9 FUIRING,
% 9996 060 o160 Tag FUIQING,
6ALEQ 69ITN F6RIT a0 gEa 269
692 @RE0Y 6HIR QR *al

oeRIg, Je, Qe
(A) BFaIHR!
(B) SRg

(C) 49Q

(D) QI°QIE1

/10-A
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: "49.

50.

Sl.

Raj travelled from a point X straight
to Y at a distance of 80 metres. He
turned right and walked 50 metres,
then again turned right and walked
70 metres. Finally, he turned right
and walked 50 metres. How far is
he from the starting point?

(A) 10 metres
(B) 20 metres
(C) 50 metres
(D} 70 metres
Pointing to a photograph, a person

tells his friend, “She is the
granddaughter of the elder brother.

of my father.” How is the girl in the -

photograph related to this man?
(A) Niece |
(B) Sister

(C) Aunt

(D) Sister-in-law

Direction (Q. Nos. 51-55) : In the
following diagram, the circle represents
College Professors, the triangle stands
for Surgical Specialists and Medical
Specialists are represented by the
rectangle : :

%

College Professors who are also
Surgical Specialists are
represented by :

(A) A
(B) B
€ C
(D) D

49.

50.

Feaem (g9 QY 51-55)
QIRGINER LRILIQ AL WM, Y6TLR,
BQFINIR 6AG TR ARG IL° UASINIQ
699 6PRIN QARG QIR JPFNQ A6l

51.

QERG J6TAa 6ANAIEE FY ARIM

Qe X 8gq Qul Yadys 80 fea gael|
Q914 FERI 64 LRGP INEM & 50 AR
QINeM| Graea 2K LITING Q@
70 §0Q QIRNER 6896Q, 6Q QIRASY
g 50 g SIRER] 64 2IQA YQ 6R6S
QREQ 86m?
(A) 10 figQ
(B) 20 figQ
(C) 50 ¢figa
(D) 70 §ioQ

6015 TECIg 906 @0 964 ERIR V1T
dIgrg Q26M, “64 6711 QAUIF 9F VAR
QIQEN USRI TELIERYR! T2IT AR 622
6MIe 986 °aRe? |

(A) 2191

(B) Q4!

(C) 4@

(D) QIR

AN [[a)

LA

%

6RAING 2SR, 6QANER JOTUQ 62IR2IG | -
A) A
(B) B
(€C) C
(D) D

/10-A
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52.

53.

54.

55.

Surgical Specialists who are also
Medical Specialists but not
Professors are represented by

(A) B
(B) X
(C) Y

(D) Z

C represents

(A) Medical Specialists

(B) Colleée Professors

(C) Surgical Specialists

Surgical

(D) Medical and

" Specialists

B represents

{A) Professors who are neither
Medical nor Surgical Specialists

(B} Professors who are not Surgical
Specialists

{C) Medical Specialists who are
neither Professors nor Surgical
Specialists

(D) Professors who are not Medical
Specialists

College Professors who are alsc
Medical Specialists are represented

by
(A) A
(B) X
€Y

D) 2

53.

54.

55.

52. JERIR 6IAIRG 6ALAICR F1)l 6B

620IRY 26T §g Q6TAR gLB 6QAIER

JeaNg 6210818

(A) B
(B) X
€)Y
(D) 2

C godeg @6
(A) 69 6Q6IMY

(B) Q6RE QETAR

{C) QTN 6291

(D) 6FBQIA 4&° IGFIR 69N

BYOayQ @6

(A) g6TAQ 6TRNIER QD 6AERIN
19 Q8RR 6RAINY Qud

(B) g6 69QAI6H AGIIR 6INAY
qes

(C) 698QIR 6IHING CAANIEE AW
geaaa 99° ATRIR 6IRY GLB

(D) g6TAQ 6ALLER 6ABRIN 6241RG
QL5

QENE JETAR 6LRANIEH F EABIIN

QARG 203 6QRIEH RS CRINB

(A) A
(B) X
(C) Y
(D) 2

/10-A
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Direction (Q. Nos. 56-60) : Read the

#ifollowing information carefully and
answer the questions given below :
fi) A, B, C, D, E, F and G are sitting
around a circle and are facing the
centre.

(i) G is second to the left of C, who is
to the immediate left of F.

~ fiii) A is third to the left of E.
fiv) B is between D and E.

56. Which of the following is false?
(A) A is fourth to the right of E

(B) G is to the immediate right of
D

(C) Fis third to the right of D
(D) B is to the immediate left of D

57. Which of the following is true?
(A) Cis the fourth to the left of B
(B} A is to the immediate right of G
(C) D is second to the left of E

(D} Bis second to the right of G

58. Which of the following pairs has the

first person sitting to the immediate
left of the second person?

(A) BE
(B) CA
(C) GD
(D) DG

59. Which of the following has the

middle person sitting between the
remaining two?

(A) FCE

(B) EFB

(C) DEB

(D} None of the above

60. Which of the following is the
: position of F?

(A) Fourth to the right of D

(B) To the immediate left of C.
(C) Between A and E

(D) To the immediate right of A

FeRaa! (g4 Q°¢4I 56-60) : Q68 IR
AQa A2 AF IL° G6R QAUININYS! 94 20
Qal
i) A, B, C, D, E, F¥@ G 69T Qalela
6999 CIACISER 6RLq gF @0 *3ea!
(i) G, CQ Qg JOI06Q 9%, d9 @ FQ
QY FRCeq 26T
(i) A, EQ QIFg 901060 Q@8
i) B, D8 E Q 9126Q @RI

56. P69 6auc faul 26e?
(A) A, EQ QI216g 94460 088
(B) G, DQ @I2i€1g Fe0ea &6g
(C) F, DQ QI216g Q91962 9E8
(D) B, DQ Q191§ Fegeq 26T

57. G67IQ 6890 Q84 U6T?
(A) C, B@ QIAg 9Qd6a 948
(B) A, GQ QI916g Feeq 6T
(C) D, EQ QI9g 491969 Qeg

(D) B, GQ @I216q Q01062 248

58. G6IQ 6RAIE ARG 69LT6R JaN @

Q010 PR Qg FATER QLR ?
(A) BE
(B) CA
(C) GD
(D) DG

P6AI9 6990 21089 9R F9 F6R
oeR! g @lee 9dR?

(A) FCE

(B) EFB

(C) DEB |

(D) 92Iq 6245 g6

59.

60. Q6719 6906 Fa §0 2697
(A) D@ Q12916g 98

(B) CQ Qlag 88 qad

(C) AG EQ qrléea

(D) A Q 2I9l61Q 2T Fe9

/10-A
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61.

62.

63.

64.

65.

66.

Find the greatest 6-digit number
among the following which is
exactly divisible by 24, 15 and 36.

(A) 999999 :
(B) 999720
(C) 999750
(D) 999820

Which of the following is/are true
forx=7,y=05,2z=3?

(A} xyz + 3 is composite

(B) xyz - 4 is prime

(C} x+ y+ z+10is a perfect square
(D} All of the above

What is the least positive integer
by which 750 should be multiplied
so that the product is a perfect
cube?

(A) 12
(B) 24
(C) 36
(D) 48

A perfect square number can never
have the digit at the unit’s
place.

(A) 4
(B) 5
(C) 8
(D). 9

The value of JO.00059049 is
(A) 0-243

(B) 0-0243

(C) 000243

(D) 0-000243

Which of the following statements

is true?

(A) All natural numbers are also
whole numbers

(B) There is no smallest whole
number

(C) The greatest whole number is
1000

(D) 1 is the smallest whole number

61.

62,

63.

64.

65.

82 8F Q99 QERA AT s ﬂmb
24, 15 8 36 QoI OR QGG 62aaQ|

(A) 999999
(B} 999720
(C) 999750
(D) 999820

BORYE I 68RT x=7,y=5,z=3
IR O] 268

(A) xyz + 3 6298 AOge Q°au

(B) xyz - 4 6228 gIQ€

(C) x+y+ z+10 6208 g4 96

(D) QU6RIY FIY ANY

QGRS UKW YAl (least positive
integer) QILIQIAI 750 QEIF< QILTRER
QQIGT Qﬁ: Wae (perfect cube) g4I
(A) 12

(B) 24

- (C) 36

(D) 48

6918 QAQ FIR6a 691G gged a°a!
Q 69163 2 QETIeR fIS!

(A) 4

(B) 5

(C) 8

(D) 9

J0-00059049 @ mY 6298
(A) 0243
(B) 00243

(C) 0-00243

. (D) 0:000243

66. F76Q GUIAIRAQI 699 @GP 0K 7

(A) QAg JIQER Q¢4 QI doHyl
A1)l 6RINAII

(B) 64141d gQon QgeIa Q°E @ 2g

(C) Qeas QPRI A°HYl 628 1000

/10-A
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.I 67.

68.

69.

70.

12x(15+34)=(12x15)+{12x34), this
is known as

(A) distributivity of multiplication
over addition

closure property

associativity of addition and
multiplication

commutative property

(B)
(€)

(D)

In the following series, how many
such odd numbers are there which
are divisible by 3 or 5, then followed

"by odd numbers and then also

followed by even numbers :
12, 19, 21, 3, 25,
22, 21, 45, 46, 47, 48, 9, 50,
52, 54, 55, 56

(A) O

(B) 1

(C) 2

(D) 3

Aaradhya, Reyansh and Akshit
start at the same time in the same
direction to run around a circular
stadium. Aaradhya completes one
round in 252 seconds, Reyansh in
308 seconds and Akshit in 198
seconds. After what time will they
meet again at the starting point?
(A) 42 minutes 12 seconds

(B) 44 minutes 30 seconds

(C) 45 minutes 40 seconds

(D) 46 minutes 12 seconds

Let the positions of the first two

digits in each number of the .

following set are reversed :
. 738 359 456 342 986
Find the difference between the

first digits of the highest number
and lowest number.

(A) 4 (A) 4
(B) 5 (B) 5
(C) 6 (C) 6
(D) 7 (D) 7

18, 35, 20,

67.

68.

QIR 3 &R 5 QIR IRFS 9, GI'A6T

69.

70.

12x(15+34)=(12x15)+(12x 34}, 92
FEHIGA!

(A) 6919 QUCR IR SEE

(B) Q@@ Q&

(C) §g0! 8 ERR IRERAE

(D) S%6dIq ane

SR GAI6Q CREEIT ACIF AU 217

26LIQ I It 21g4d] g4 8 QI'deal

6QIG QB QR FRI AGAQE FEQ|
12, 19, 21, 3, 25, 18, 35, 20,
22, 21, 45, 46, 47, 48, 9, 50,
52, 54, 55, 56

(A) 0

(B) 1

() 2

(D) 3 °

2, 6QL°s 6 Ufe QAR ANUER,
dAIR Q669 66115~ CQIRIMA AGRIER/
QTAN6Q 6F1ZQ QB QREMI QIR
252 6ACRLER 691G QURE CAAXN,
6RO 308 cdcaden B 8¢ 198
6ACHYER| 6660 QAL TSR 6QIER
JeeIa 2IeR 2R GINER IREe

69697

(A) 42 minutes 12 seconds
(B) 44 minutes 30 seconds
(C} 45 minutes 40 seconds
(D) 46 minutes 12 seconds

G616 T2LINZSI 696 69 JEcUR A°EHYI

Q gaf 99F Awxa QIF BRCI cRIRE!
738 359 456 342 986

QeaN 8 YIor IR A AT FU6R
el @U6Qg (difference) QIRIQ FAl

/10-A
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71.

72.

The pie chart given below shows the
percentage-wise breakup . of
students in terms of specialization
in MBA :

If the total number of students is

8000, what is the total number of
students having specialization in IR,
Marketing and IT?

(A) 4640
(B) 4400
(C) 4260

(D) 4080 -

Which of the following statements
is sufficient to answer the
question?

Question : Find:the total number

.of students it a class if the class

has some boys and some girls.
Statements :

i) The nurnber of boys in a class
is 10,

fiiy The number of girls in a class
is 2 more than the number of
boys.

(A)
(B)

Only statement (i) is sufficient

Either statement (i) or (u) is
sufficient

{C) Both statements (i) and (i) are

sufficient

(D) Only statement (i} is sufficient

71. Gq6a FAIRYS! AIRQ QIRGIA (piclf

72.

(C) 4260

- QIPIQ 99 AT 6g4Ieq @8 QEI 8 &% 8

chart} 69 1¢1.9.4 (MBA) 69 26886
QQU6Q 8IQ IFIAINGR QO BIFA 9GP
QU gLae 621a8|

A8 QgRIA SIE VLIPS A°EY) 8000,
AIR.8 (IT), QI6RE° 6 AIR.2iQ. (IR) 69
Q6aTCG! AR AYAG 8IF SIFIE AUyl
6697

(A) 4640

(B) 4400

(D) 4080

FINYe @8 QIeE FRIQ 6RAT 99 Qa9
£6Q! QIR Q6aY?

g9 : 69819 AYNA FIF-VIQIT Al

aeg.

Q@ :

) €841 Q2 Aol 62QE 10 |

(i) 6gA6Q T2 A°FYI QI A°HI OIg|
2 ARG |

AR QB (i) 629RE Y6AT

@S (i) CURAICR A i) a6
62IRAER

QR AP () 6 (i) A68Y

CReR Q@ (i) a6eg

(A)
(B)

(€)
(D)

/10-A
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Q 73.

The table below shows the daily
income (in ) of 50 persons. Study
the table carefully and answer the

question given below :

Income () No.of persons
Less than 300 12
Less than 350 26
‘Less than 400 34
Less than 450 40
Less than 500 50

74.

How many persons earn ¥ 300 or.

more but less than T4007 -
(A) 8
(B) 12

(C) 22

(D) 38

Five distinct shops sold varying
quantities of umbrellas and
raincoats in a specific month. The
table given below provides the sales

figures for each shop :

Number of

Shop Number of
umbrellas sold | raincoats sold
A 250 100
- B - 120 140
C 200 260
D 350 320
E 250 300

If both the number of umbrellas and
the number of raincoats sold by
shop F is 40% more than that by
shop E then what is the difference
between the number of umbrellas
and the number of raincoats sold
by shop F?

(A) 90

(B) 70

{C) 60

(D) 50

73, G6EI9 6ORER 50 K6 NGTR (§F

74.

2 (o) e
Qg
300Q &1| 12
3BOQ@A| 26
400 @61 | 34
450 g @1 | 40
500 @A | 50
EREORE QUG 300 Q AR B 400 @ !¢
QQIge @sRI
(A) 8
(B) 12
(C) 22
(D) 38

 (A) 90
.(B) 70

Q69) g%aa 8IA gede CRIRR! 609R
Q AUIGOIR AT AL FQ 6 gEQ
28 d2l

QIBT Yo SQIRIR FEg 69189 AIQ6Q
e QOge 861 6 adiE 6aINIe IR
3¢ 6EgMSa J6SYR €QlIRIe AR I
Y Q2 IR

come | 79198 | cdidsame
T e | 88 Qe
A 250 100
B 120 140
C 200 260
D 350 320
E 250 300

A% 691919 FQIAI 80l 8 9dIG 6QI9I9R
IR QU QRIS E QIR TF 621Q8Q
QIOIG 40% 2@ T4 6561 6QARNF
FQIQI §F 6212291 861 6 94IG 6QI919a
QGYl FRICE DL 69667

(C) 60
(D) 50

/10-A
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75.

The pie chart given below shows the
percentage of students in five schools
and the table below shows the ratio
of boys and girls in each school.
Study the pie chart and the table and

answer the question that follows :

School

E

Girls : Boys [ 3:4[2:3|5:3 1:2 4:1

76.

If the total number of girls from all
the five schools is represented as
the pie chart, what will be the

‘measure of the sector angle (to the

nearest integer} corresponding to
school B? - .

(A} 42°

(B) 32°

(C) 48°

(D) 58°

In the light of data s‘ufficienéy,
choose the appropriate option.
What will be the total weight of 10
poles, each of the pole is of same
weight?

Statements :

(i) One-fourth of the weight of
each pole is 5 kg.

- {i)) The total weight of three poles
is 20 kg more than the total .

weight of two poles,

{A) Statement (i) alone is sufficient
while statement (i} alone is not
sufficient

(B) Statement (i) alone is sufficient
while statement (i) alone is not
sufficient

(C) Either (i} or fii) is sufficient

(D) Neither (i} nor (i) is sufficient

75. G969 GRUIAIRYS! AIR FIS (pie chartlg
62 CISE TAIPAR BIG BIGIS 9696 G
6EgMR G6F geQia SuIRaR g2 8
awa ARG FAAIGEI AR QIS (pie
chart) @ 2GR 94 6 86Q TAIRYS
gae eae @2l

oaveas | A | Bl ¢c | D] E

g2 :ga)3:4[2:3[5:3[1:2]4:1

AT ANg QBT GMIRAQ AQID T2
QY| 69T QR QIS (pie chart) NNES
gede 228, IMNIRAQ B @ 2990 699
ERIGQ I 6960 6297
(A) 42°
(B) 32°
(C) 48°
(D) 58°
76. QIR OYGSI] 9F6Q QY QAOYY 716
P08 Qal
gecuae AR BRA6R 108 YR (poles)
Q ARIG BT 6R6E 6897
@6 :
i) 96D YR 5 6QF BERA 9
ogel 4
(i) AT YRR YLD BRA0IQ TERIT
YIRQ AN BIF 20 627
(A) @@ () 9T € U6C2AY CACHEIER
QQ (i) IR T6AY F6<
(B) Q@ (i) 4R T Q6AY 6U6066R
@8 (i) 9911 QsAY G6F
(C) B9 (i) AU (i} 6208 A6aY
(D) () 6% @ (i) & Qcag ges

/10-A
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Study the bar diagram given below
and answer the question :

_677.

Export of Pearls (in crores of 7)
11:4

77. 3960 FURAINIYS QIR QRGN (bar
diagram) § Qe @0 G 4 @

QY

“2001 2'662 2003 2004 2005 2006 2007

Years

in export from 2006 to 20077
(A) (50/3)%

What was the percentage increase '

Export of Pearls (in crores of ﬂ

2001 2002 2003 2004 20086 2006 2007
' Years

2006 § 2007 OY8 QYIFIER 6966
goae 9 aIRg?

(B} 20% (A) (50/3)%
(C) 19% (B} 20%
(D) 24% (C) 19%
78. The following table gives the (D) 24%
percentage profit earned by two S o »
companies A and B over six years. 78. /¢ qu@ Q_Elg sl A(ﬁi B@IQL@‘FJI@G‘
Answer the question given below : nIR goBog o¢) 6C'gRER WaIdINE] R
PER TPININAN g9 2aa Gl
Year | 2008 [ 2009 | 2010 (2011|2012 | 2013
A 25 45 | 35 50 30 40 ad | 2008 { 2009 | 2010 | 2011|2012 | 2013
B 40 35 50 45 40 45 A| 25 45 35 50 30 40
, ' B| 40 | 35 | 50 | 45 | 40 | 45
If the income of Company B in 2010
and 2011 were in the ratio of 2 : 3 Q% 2010 G 2011 6@ FMFQ AR
respectively, then what was the . a od
ratio of expenditures of that ﬂ@?l@ QAR 2 : 3, 9€ ol TUCA
(A) 9:12 () 9: 12
(B) 10: 29 (B) 10:29
(C) 20:27 (C) 20:27
(D} 29: 45 (D) 29:45
/10-A 29 [P.T.O.



Direction (Q. Nos. 79 & 80) : Answer the
questions based on the following pie chart
that shows the sale of different fruits in
a day for a shop :

Bediael (99 & 79 & 80) : QG amb

QIS (pie chart) ZRINER QA 3¢ QLI 6619
QIRIF QIR 601G TR TR 6LIRYS S0
TIQ gode 6al

Sales

mBanana 'Grapes ‘Apple 'Orange -Others

Sales

-Be.mana -Grapes .Apple lOrange . Othersl

79. If a total of 1200 kg of fruits were
sold in a day, calculate the amount
. of bananas sold (in kg).

(A) 360 kg
(B) 320 kg
(C) 300 kg

(D) 280 kg

Find the difference between sales
of grapes and oranges.

80.

(A) 30 kg
(B) 45 kg

(C) 54 kg

(D) 60 kg

79. 9% 60T TR6Q QYRS 1200 686 TR
§@ 62RI, QR (bananas) §¢
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(B) 45 G
(C) 54 6%

(D) 60 6a%
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